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4.1  ��	�
��
����
�
������
����������� 1

�����	
����
����������	�������� ���������������	
����
��� !����"#����$������%�$�� 

� &��	���
 Minitab Release 14 �3�������
4���5
3����"#���$���4������	
����
�����
����� Factorial Design $�� 23 ���
3����"#����>?����������	
����
��� !�
�� F-ratio $��
3�
�����
�� 	��?� �?� 95 % �����>?��������"4�
�B 5 % ( α = 0.05 )  �4����
3�
�� 	�H���� (A)  >�
2 ����� 
�� 150$�� 300 m/min ��������%L�� (B)  > 2 �����
�� 0.1 $�� 0.4 mm/rev 
�� 
�O��������� (C)  > 2 �����
�� 0.5 $��1 mm �����"���	%Q�
3�
�� ��R���&������S ��
���&��� $��
�� 
���	
��?������ �������������������>? 4.1

4.1.1 ��
����
�
������
����� ������ Ra

������>? 4.1 "�R%��������������>? 1 ���
3� Ra

ReplicateA B C Treatment
1 2 3

Total
.iy

Average
.iy

- - - (1) 3.84 3.37 3.70 10.91 3.64
+ - - a 3.50 3.46 3.98 10.94 3.65
- + - b 4.63 4.73 5.12 14.48 4.83
+ + - ab 3.72 4.20 4.17 12.09 4.03
- - + c 3.82 4.25 3.88 11.95 3.98
+ - + ac 3.25 2.98 3.10 9.33 3.11
- + + bc 3.90 4.01 4.51 12.42 4.14
+ + + abc 4.14 4.21 3.95 12.30 4.10

.. ..94.42 31.48y =    y =
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$��[4����	���	"��"4�����������$�� Three ] factor factorial 
��

Yijkl  =  µ + τ i + β j + γ k + (τ β )ij + (τ γ )ik + (β γ )jk

        + (τ β γ )ijk + ε ijkl

����>? τ i :  Treatment Effect ���
3� Speed
β j :  Treatment Effect ���
3� Feed
γ k :  Treatment Effect ���
3� Depth

(τ β )ij :  Treatment Effect ���
3� Interaction ����3�� Speed $��
3� Feed
(τ γ )ik :  Treatment Effect ���
3� Interaction ����3�� Speed $�� Depth
(β γ )jk :  Treatment Effect ���
3� Interaction ����3�� Feed $��
3� Depth
(τ β γ )ijk :  Treatment Effect ���
3� Interaction ����3�� Speed, Feed, $��


3� Depth

"  ��e���>?�����"��
        1. H0   :  τ 1  =τ 2  = 0

H1   :  At least one τ i ≠ 0
        2. H0   :  β 1  =β 2  = 0

H1   :  At least one β j ≠ 0
        3. H0   :  γ 1  =γ 2  = 0

H1   :  At least one γ k ≠ 0
        4. H0   :  (τ β )ij = 0    �R�
3���� i, j

H1   :  At least one (τ β )ij ≠ 0
        5. H0   :  (τ γ )ik = 0    �R�
3���� i, k

H1   :  At least one (τ γ )ik ≠ 0

i = 1, 2�, a
j = 1, 2�, b
k = 1, 2�, c
l = 1, 2�, n
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        6.  H0   :  (β γ )jk = 0    �R�
3���� j, k
             H1   :  At least one (β γ )jk ≠ 0
        7.  H0   :  (τ β γ )ijk = 0    �R�
3���� i, j, k
             H1   :  At least one (τ β γ )ijk ≠ 0

������>? 4.2 $"������������	
����

�� $%�%������
3� Ra

��[�������	
����

[��������>? 4.2 �4������	
����
�>?�����
�� 	��?� �?� 95 %�����>?��������"4�
�B α= 0.05

iO?�
3� Fα,ν 1,ν 2 [������� F ] ratio (j�
���� ������>? k 4) �>? α= 0.05 [�S��
3� F0.05,1,16 =
4.49  >	�5l
������"���[
��#��
3� F ] ratio  >
3� ����3� Fα,ν 1,ν 2  [�%m�	"n H0 iO?�� ��#O����
$%����� o  >���3�
�� ��R���&������S ��

�����	
����

3� Speed
[��������>? 4.2 
3� F ] ratio =17.72 iO?� >
3� ����3�
3� F0.05,1,16 = 4.49 (j�
���� ��

����>? k 4)  $��
3�  P-value = 0.001 iO?� >
3�������3�
3� α= 0.05 �������[O�%r�	"n"  ��e��
H0"�R%S���3�
3� Speed  >���3�
�� ��R���&������S ����&���
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�����	
����

3� Feed
[��������>? 4.2 
3� F ] ratio =44.77iO?� >
3� ����3�
3� F0.05,1,16 = 4.49 (j�
���� ��

����>? k 4)  $��
3�  P-value = 0.000 iO?� >
3�������3�
3� α= 0.05 �������[O�%m�	"n"  ��e��
H0"�R%S���3�
3� Feed  >���3�
�� ��R���&������S ����&���

�����	
����

3� Depth
[��������>? 4.2 
3� F ] ratio =4.14 iO?� >
3�������3�
3� F0.05,1,16  = 4.49 (j�
���� ��

����>? k 4)  $��
3�    P-value = 0.059 iO?� >
3� ����3�
3� α= 0.05 �������[O��� ���"  ��e��
H0"�R%S���3�
3� Depth S 3� >���3�
�� ��R���&������S ����&���

�����	
����

3� Interaction ����3�� Speed ���
3� Feed
[��������>? 4.2 
3� F ] ratio =0.00iO?� >
3�������3�
3� F0.05,1,16 = 4.49 (j�
���� ��

����>? k 4) $��
3�     P-value = 0.994 iO?� >
3� ����3�
3�α= 0.05 �������[O��� ���"  ��e��
H0 "�R%S���3�
3� Interaction ����3��
3� Speed ���
3� Feed S 3� >���3�
�� ��R���&������S ��
���&���

�����	
����

3� Interaction ����3�� Speed ���
3� Depth
[��������>? 4.2 
3� F ] ratio =0.06iO?� >
3�������3�
3� F0.05,1,16 = 4.49  (j�
���� ��

����>? k 4) $��
3�     P-value= 0. 817  >
3� ����3�
3� α= 0.05 �������[O��� ���"  ��e��
H0"�R%S���3�
3� Interaction ����3��
3� Speed ���
3� Depth S 3 >���3�
�� ��R���&������S ��
���&���

�����	
����

3� Interaction ����3�� Feed ���
3� Depth
[��������>? 4.2 
3� F ] ratio =1.23 iO?� >
3�������3�
3� F0.05,1,16 = 4.49  (j�
���� ��

����>? k 4) $��
3�     P-value = 0.283  >
3� ����3�
3� α= 0.05 �������[O��� ���"  ��e��
H0 "�R%S���3�
3� Interaction ����3��
3� Feed ���
3� Depth S 3 >���3�
�� ��R���&������S ��
���&���

�����	
����

3� Interaction ����3�� Speed, Feed, $�� Depth
[��������>? 4.2 
3� F ] ratio =16.51 iO?� >
3� ����3�
3� F0.05,1,16 = 4.49  (j�
���� ��

����>? k 4) $��
3�     P-value = 0.001  >
3�������3�
3� α= 0.05 �������[O�%r�	"n"  ��e��
H0"�R%S���3�
3� Interaction ����3��
3� Speed, Feed, $�� Depth  >���3�
�� ��R���&������S ��
���&���
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j�&%������>? 4.1 $"�� Main Effects Plot for Ra

j�&%������>? 4.2 $"�� Interaction Plot for Ra

[��j�&%������>? 4.1 &��3�%s[[�������>?"3����3�
�� ��R���&������S ����&���
��
�����%L����� >$����� �3�	 �?�	&�? �����%L��[�� 0.1 	%Q� 0.4 mm/rev 
�� ��R���[�	&�? �O��
$��[��j�&%������>? 4.2 &��3�%s[[���3� �>?"3����3�
�� ��R���
�� 
�� 	�H����$�������
%L�� ���	 �?�%���
3����� 2 	&�? �O�� >���4����
�� ��R���	&�? �O������

M
ea
n 
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 R
a
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      4.1.2 ��
����
�
������
����������� ��� �������!���"���

������>? 4.3 $"������������	
����

�� $%�%������
3� Dimensional error

��	
����
%s[[���>?"3����3�
�� 
���	
��?������
[��������>? 4.3 �4������	
����
�>?�����
�� 	��?� �?� 95 %�����>?��������"4�
�B α = 0.05 iO?�

3� Fα,ν 1,ν 2 [������� F ] ratio �>? α= 0.05 [�S��
3� F0.05,1,16 = 4.49 (j�
���� ������>? k
4)  >	�5l
������"���[
��#��
3� F ] ratio  >
3� ����3� Fα,ν 1,ν 2  [�%m�	"n H0 iO?�� ��#O����
$%����� o  >���3�
�� 
���	
��?������


3� Speed     [��������>? 4.3 
3� F ] ratio =47.89 iO?� >
3� ����3�
3� F0.05,1,16 = 4.49
(j�
���� ������>? k 4) $��
3�  P-value = 0.000 iO?� >
3�������3�
3� α = 0.05 �������[O�
%r�	"n"  ��e��  H0"�R%S���3�
3� Speed  >���3�
�� 
���	
��?������


3� Feed   [��������>? 4.3 
3� F ] ratio =14.22 iO?� >
3� ����3�
3� F0.05,1,16 = 4.49
(j�
���� ������>? k 4) $��
3�  P-value = 0.002 iO?� >
3�������3�
3� α= 0.05 �������[O�%m��
	"n"  ��e�� H0"�R%S���3�
3� Feed  >���3�
�� 
���	
��?������

3� Interaction ����3�� Speed ���
3� Feed

[��������>? 4.3 
3� F ] ratio =7.40iO?� >
3� ����3�
3� F0.05,1,16 = 4.49 (j�
���� ��
����>? k 4) $��
3�     P-value = 0.015  iO?� >
3�������3�
3� α= 0.05 �������[O�%r�	"n"  ��e��
H0"�R%S���3�
3� Interaction ����3��
3� Speed ���
3� Feed  >���3�
�� 
���	
��?������
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j�&%������>? 4.3 $"�� Main Effects Plot for Dimensional error

j�&%������>? 4.4 $"�� Interaction Plot for Dimensional error

[��j�&%������>? 4.3 &��3�%s[[�������>?"3����3�
�� 
���	
��?������
�� 
�� 	�H�
��� $�� �����%L�� ��� >$����� 	 �?�	&�? 
�� 	�H����[�� 150 	%Q� 300 m/min �4����

�� 
���	
��?������������3��	�H�S����� $��[��j�&%������>? 4.4 &��3�%s[[���3� �>?"3�
���3�
�� ��R���
�� 
�� 	�H����$�������%L��
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n 
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4.2  ��	�
��
����
�
������
����������� 2 �
�#���� 1

[������������	��������&��3� %s[[�������>?"3����3�
�� ��R���&������
�� �����%L�� $��
%s[[���3� �>?"3���
�� 
�� 	�H������������%L�� �����������������
�����>�S���4����
3�
��>?���

�� �O���������	��?��[��S 3"3����3��������� ������������������>? 2 
�����>? 1 �>�S��������
���$�� Generals factorial design ��	
����
���������������%�$��  Minitab Release 14
$������������
�����>�S�� >�����	
����
������	�
��
 �����	
����

�� $%�%���&�R
!5
MANOVA (Multivariate Analysis of Variance)	��?��[�� >���$%���  2 ���$%�
�� 
�� ��R���
&������ $�� 
�� 
���	
��?������ ���[����������������
�����>����S��xO�y��!�3��� >�	i��
 �� >���"O��������S 3j�����	���$��"j����������>?�4����

4.2.1 ��
����
�
�����$�%������ MANOVA

�������	
����
S���4�������$%���"��
�� Speed ��� Feed $���4�������$%��� 
�� Ra

$�� Dimensional error �������	
����
���������>? 4.4

������>? 4.4 $"�������	
����
 MANOVA for Speed

[��������>? 4.4 &��3������ Speed  >���"4�
�B (
3� Λ= 0.945 $�� F = 2.484 iO?� p =
0.043) $��"#��������?� o �H������>? >���"4�
�B	�3����
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������>? 4.5 $"������� MANOVA for feed

[��������>? 4.5 &��3������ Feed  >���"4�
�B (
3� Λ= 0.936 $�� F = 2.907 iO?� p = 0.022)
$��"#��������?� o �H������>? >���"4�
�B	�3����

[��������>? 4.4 &��3�"  ��e������ H 0(Speed) #!�%r�	"n�������[O�"�����3��
�� 	��?� �?�
������$%�$�3�����	&�?����3�������>? >"3���>? >"3��"���"�R��3����%r�	"n H 0(Speed) ���� iO?��3��

�� 	��?� �?������R� (Simultaneous confidence intervals) S�������n>��� Tukey &��3����$%��>? >�
��
�� Dimensional error 	��?��[�� Speed  > 3 ������������[O���"�����
!3�3� 
!3S���>?$���3��
��3�� >���"4�
�B�>? ����� α= 0.05  &��3��>? Speed = 300 ��� 500$���3����3�� >���"4�
�B
	��?��[�� P-value = 0.0052 (�!j�
����������>? � 2.9 $�� � 2.10)

[�������	
����
 MANOVA �����%r�"� &��n
 (Interaction) H 0(Speed Feed) S 3 >���"4�
�B
[��������>? 4.5 &��3�"  ��e������ H 0(Feed) #!�%r�	"n�������[O�"�����3��
�� 	��?� �?�������
$%�$�3�����	&�?����3�������>? >"3���>? >"3��"���"�R��3����%r�	"n H 0(Feed) ���� iO?��3��
�� 	��?�
 �?������R� (Simultaneous confidence intervals) S�������n>��� Tukey &��3����$%��>? >��
��
Feed 	��?��[�� Feed  > 3 ������������[O���"�����
!3�3� 
!3S���>?$���3����3�� >���"4�
�B�>?
����� α= 0.05 &��3��>? Feed = 0.08 ��� 0.12 $���3����3�� >���"4�
�B 	��?��[�� P-value =
0.004 (�!j�
����������>? � 2.7 $�� � 2.8)
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4.2.2 ��
����
�
������� Ra �$�%������ ANOVA

������>? 4.6 $"�������	
����
 
�� $%�%������
3� Ra

[��������>? 4.6 ��	
����
S���3�%s[[�������>? >���3�
3� Ra  ���>?"R�
�� �����%L�� >� (Feed)
"3��
�� 	�H����$�� Interaction ����3�����$%�S 3 >���3�
�� ��R���&������S ����&���

j�&%������>? 4.5 $"�� Main effect plot for Ra

M
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j�&%������>? 4.6 $"�� Interaction plot for Ra

[��j�&%������>? 4.5 &��3� >$����� 	 �?����
3������%L������ [��4����
3�
�� ��R���&������ >�

3��?4�$���>?�����%L�� 0.8 mm/rev���
3�
�� ��R���&�������?4�"R� "4�����j�&%������>? 4.6 &�
�3� 
3� Interaction ����3�����$%�S 3 >���3�
3� Ra

4.2.3 ��
����
�
���������� �������!���"����$�%������ ANOVA

������>? 4.7 $"�������	
����

�� $%�%������
3�
���	
��?������

[��������>? 4.7 �4������	
����
S���3�%s[[�������>?"3��� ���>?"R��3�
�� 
���	
��?������
��

�� 	�H���� (Speed) ���[���>����&��3� Interaction ����3��%s[[���H"3����3�
3�
�� 
���
	
��?����������

feed

M
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Interaction Plot (data means) for Ra
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j�&%������>? 4.7 $"�� Main effect plot for Dimensional error

j�&%������>? 4.8 $"�� Interaction plot for dimensional error

[��j�&%������>? 4.7 &��3�	 �?�	&�? 
�� 	�H����"!��O��[� >�����
3�
�� 
���	
��?��������
��$���>?
3� Speed = 500 m/min [����
3�
�� 
���	
��?����������"R� $��[��j�&
%������>? 4.8 &��3� Interaction ����3�� Feed ��� Speed �H >���3�
�� 
���	
��?������
����
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������>? 4.8 $"�������	
����

3� Means ��� Ra $�� Dimensional error

[��������>? 4.8 $"�������	
����

3� Means ��� Ra &��3� �>? Speed = 300  
3� Ra =
3.741 �>? 400 
3� Ra = 3.746 �>? 500 
3� Ra = 3.714 iO?�&��3�S 3$���3����� $������� Feed
&��3� �>? Feed = 0.08 
3� Ra = 3.613 �>? 0.10 
3� Ra = 3.709 �>? 0.12 
3� Ra = 3.879 iO?�&��3� >�

�� $���3����� "4���������� Speed*Feed &��3��>? Speed = 400 $�� Feed = 0.08 
3� Ra

= 3.536 iO?��?4�"R�
[��������>? 4.8 $"�������	
����

3� Means ��� Dimensional error &��3� �>? Speed =

300  
3� Dimensional error = 0.25 �>? 400 
3� Dimensional error = 0.20 �>? 500 
3�
Dimensional error = 0.16 iO?�&��3�S 3$���3����� $������� Feed &��3� �>? Feed = 0.08 
3�
Dimensional error = 0.22 �>? 0.10 
3� Dimensional error = 0.20 �>? 0.12 
3� Dimensional
error = 0.19 iO?�&��3� >
�� $���3����� "4���������� Speed*Feed &��3��>? Speed = 500
$�� Feed = 0.08 
3� Dimensional error = 0.08iO?��?4�"R�
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4.2.4 ��
����
�
����
,-��
�"��.� ���/
� ��

����������>�S�� >����4������������ 9 "j��������������$�3��"j�������� >���� 1

 ��������$�3��"j����4������O� 
��	%Q�������� 4000   . $���4��� >�S%"3������� SEM
�3��$�����������O�	&�?�	%�>��	�>��"j�&���
 ��� ���j�&%������>? 4.9 $�� 4.10

j�&%������>? 4.9 $"���� >��	i�� ���3������>?�4�������� 100 	�3�$�� 500
	�3����"j����������>? 7�>? V = 500 m/min , Feed = 0.08 mm/rev $�� Depth of cut = 1 mm

j�&%������>? 4.10$"���� >��	i�� ����������>?�4�������� 100 	�3�$�� 500
	�3� ���"j����������>? 7�>? V = 500 m/min , Feed = 0.08 mm/rev $�� Depth of cut = 1
mm ����4������O�S ����&����>?������� 4000 mm

[��j�&%������>? 4.9 $�� 4.10 	%Q����	%�>��	�>���� >��3�����$����������>? V = 500
m/min , Feed = 0.08 mm/rev $�� Depth of cut = 1 mmiO?�&��3��� >S 3 >���	%�>?��$%��
���	���
5���>?���	[� $�3[�%���r
������S �$�����S �S 3�4�%m����������� >� $��[�����
xO�y�	&�? 	�� &��3����"O��������� >�	i�� ��[�	%Q����"O����$��$����� $����� ��[�
	���[��������$���������������� 	���[�� Thermal shock 	��?��[���� >�	i�� �� >
�� $�H�
 ��	 �?�	�>�����S ����&����������j����"j����>?�4����[O�S 3��[���[&����"O����
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j�&%������>? 4.11 $"��	��������O��3� 1 ���� �� 9 "j���������

j�&%������>? 4.12 $"��	��������O��3� 20 ���� �� 9 "j���������

[�����xO�y�	���������4���� iO?��������O�$�3��
����	%Q�������� 200 mm&��3��>?

�� 	�H���� 500 m/min $�������%L�� 0.12 mm/rev���	�������"R��>? 46 �����> $��[�����
xO�y�	����� �����O� 20 ������$�3��"j���&��3� �>?
�� 	�H���� 300 m/min $�������%L��
0.08 mm/rev���	��� ���>?"R� 35 ���> 33 �����>
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$"��j�&#3�����	����S ����&������������O�

j�&%������>? 4.13 $"������4����[R���� 3 [R�

j�&%������>? 4.14 $"��[R��>?�4����������� 3 [R�

[������4����[R���� 3 [R� (�!j�&%������>? 4.13 $�� 4.14) &��3�	����S � >
�� ���$%�
 ��	��?��[��	%Q�S �$���3�%��"���4����	����S �S 3 >
�� " ?4�	" �

j�&%������>? 4.15 $"�����	����4�������	����S ��

[�������O��������&��3�	����S ��������[� >�4����	����O�� 	�3� 	����R�����	">���S �  >��S ��
$�����[������ ��[ >�4�����������3� iO?� 5 [R������3��[�S 3"� ��#�4�������S�� �������[O�
��>�	�>?��������[R������3�� (�!j�&%������>? 4.15)
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74.3 ��	�
��
����
�
������
����������� 2 �
�#���� 2

����[��������������>? 2 
�����>? 1 $���	"�H[�HS��	��>� ���	&�?������
�����>? 2 ���S��%���

3������%L��	%Q� 0.6 , 0.8 $�� 1.0 mm. $��
�� 	�H���� 256 , 363 $�� 534 m/min ���
	%�>?�� ����	
��?����O� Harrison M350$��S��	����
3�%�������"!�"R��>?	
��?��[���"� ��#�4�S���
��������
�����>�S�����������$�� Generals factorial randomized block design ��	
����
��
�������������%�$��  Minitab Release 14 $�����	�
��
�����	
����
�� MANOVA 	��?��
[�� >���$%���  2 �����3��S��H�� �HS�� >������	�
��
��	
����
��$�� ANOVA 	&�?�	%�>��
	�>������

4.3.1 ��
����
�
���$�%������ MANOVA

������>? 4.9 $"�������	
����
 MANOVA for feed

[��������>? 4.9 &��3������ Feed  >���"4�
�B (
3� Λ= 0.29648 $�� F = 20.077 iO?� P
= 0.000) $��"#��������?� o �H������>? >���"4�
�B	�3����

[��������>? 4.9 &��3�"  ��e������ H 0(Feed) #!�%r�	"n�������[O�"�����3��
�� 	��?� �?�
������$%�$�3�����	&�?����3�������>? >"3���>? >"3��"���"�R��3����%r�	"n H 0(Feed) ���� iO?��3��

�� 	��?� �?������R� (Simultaneous confidence intervals) S�������n>��� Tukey &��3����$%��>? >�
��
�� Ra 	��?��[�� Feed  > 3 ������������[O���"�����
!3�3� 
!3S���>?$���3����3�� >���"4�
�B�>?
����� α= 0.05 (�!j�
����������>? � 3.4 $�� � 3.5)
�>? Feed = 0.6 ��� 0.8$���3����3�� >���"4�
�B 	��?��[�� P-value = 0.0000
�>? Feed = 0.6 ��� 1.0$���3����3�� >���"4�
�B 	��?��[�� P-value = 0.0000
�>? Feed = 0.8 ��� 1.0$���3����3�� >���"4�
�B 	��?��[�� P-value = 0.0003
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���[���>���� &��3� Dimensional error S 3 >���3����%r�	"n"  ��e�� H 0(Feed) $����
�����	
����
 MANOVA �����%r�"� &��n
 (Interaction) H 0(Speed Feed) S 3 >���"4�
�B (�!j�

����������>? � 3.6 $�� � 3.7)

������>? 4.10 $"�������	
����
 MANOVA for Speed

[��������>? 4.10 &��3������ Speed  >���"4�
�B (
3� Λ= 0.33260 $�� F = 17.615 iO?�
P = 0.000) $��"#��������?� o �H������>? >���"4�
�B	�3����

[��������>? 4.10 &��3�"  ��e������ H 0(Speed) #!�%r�	"n�������[O�"�����3��
�� 	��?� �?�
������$%�$�3�����	&�?����3�������>? >"3���>? >"3��"���"�R��3����%r�	"n H 0(Speed) ���� iO?��3��

�� 	��?� �?������R� (Simultaneous confidence intervals) S�������n>��� Tukey &��3����$%��>? >�
��
�� Dimensional error $�� Ra iO?��4����$����"��
3� Ra �3��	��?��[�� Speed  > 3 �����
�������[O���"�����
!3�3� 
!3S���>?$���3����3�� >���"4�
�B�>? ����� α= 0.05 (�!j�
���������
�>? � 3.11 $�� � 3.12) &��3� �>? Speed = 256 ��� 534 $���3�������3�� >���"4�
�B P-value =
0.0186
�4�����3� ���"��
3� Dimensional error �>? ����� α= 0.05 (�!j�
����������>? � 3.13 $��
� 3.14)
�>? Speed = 256 ��� 363 $���3����3�� >���"4�
�B 	��?��[�� P-value = 0.0080
�>? Speed = 256 ��� 534 $���3����3�� >���"4�
�B 	��?��[�� P-value = 0.0000
�>? Speed = 363 ��� 534 $���3����3�� >���"4�
�B 	��?��[�� P-value = 0.0000
iO?�"�R%S���3� 
3� Dimensional error  >���3����%r�	"n H 0(Speed) ���>?"R�
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4.3.2 ��
����
�
���� Ra �$�%������ ANOVA

������>? 4.11 $"�������	
����
 ANOVA for Ra

[��������>? 4.11 ��	
����
S���3� %s[[�������>?"3����3�
3�
�� ��R���&������ (Ra)  ���>?"R�
��
feed "��	��S��[��
3� F= 48.32 $�� P = 0.000 $��%s[[�������>?"3����>�
3�
�� speed $�3"3�
��������3��![��
3� F= 3.96 $��P = 0.027  $�����[���>�&��3�%r�"� &��n
 (Interaction) S 3�
"3����3�
3�
�� ��R���&������ S ����&���

j�&%������>? 4.16 $"�� Main Effect plot for Ra

[��j�&%������>? 4.16 �n����S���3�%s[[����������"����� (Speed, Feed) "3����3�
3�
�� 
��R���&������ (Ra) ����>? Feed "3��� ���>?"R�

M
ea
n 
of
 R
a

534363256

4.8

4.6

4.4

4.2

4.0

3.8

3.6
1.00.80.6

speed feed

Main Effects Plot (data means) for Ra
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j�&%������>? 4.17 $"�� Interaction plot for Ra

[��j�&%������>? 4.17 �n����S���3� Interaction S 3 >���3�
3� Ra iO?�"��
������������
ANOVA �>? 4.10

4.3.3 ��
����
�
������� �������!���"����$�%������ ANOVA

������>? 4.12 $"�������	
����
 ANOVA for Dimensional error

[��������>? 4.12 ��	
����
S���3� %s[[�������>?"3����3�
3�
�� 
���	
��?������  ���>?"R�

�� Speed "��	��S��[��
3� F= 39.89 $��P = 0.000 ���[���>�&��3�%r�"� &��n
 (Interaction)
S 3"3����3�
3�
�� 
���	
��?������

feed

M
ea
n

1.00.80.6
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Interaction Plot (data means) for Ra
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j�&%������>? 4.18 $"�� Main effect plot for dimensional error

[��j�&%������>? 4.18 �n����S���3� speed  >���3�
�� 
���	
��?������ ���>?"R�
��� >$����� �3�
3� speed ��?�"!�
3�
�� 
���	
��?������[��?4�

j�&%������>? 4.19 $"�� Interaction plot for dimensional error

[��j�&%������>? 4.19 �n����S���3� %r�"� &��n
� (Interaction) S 3"3����3�
3�
�� 
���
	
��?������ iO?�"��
������������ ANOVA �>? 4.11

M
ea
n 
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 D
im
.e
rr
or

534363256
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������>? 4.13 $"�� Least squares Means for Ra

[��������>? 4.13 &��3��>?������ Feed = 0.6���
3� Ra = 3.72 iO?�����"R� $��������3��
Speed*Feed &��3��>? Speed = 534 $�� Feed = 0.6 ���
3� Ra = 3.53 iO?��?4�"R�

������>? 4.14 $"�� Least squares Means for Dimensional error
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[��������>? 4.14 �n����S���3� ������ Speed = 534 ���
3� Dimensional error = 0.09 iO?�
����"R� $��������3�� Speed*Feed &��3��>? Speed = 534 $�� Feed = 0.6 ���
3�
Dimensional error = 0.07 iO?��?4�"R�

 4.3.4 ��
����
�
����� ,� 1��2�3����
����������� 2
������������>? 2 "� ��#"����
�� "� &��n
����3��%s[[������$�����$%��� ���!%" 

���	���	"����� S������>�
������������>? 2 
�����>? 1

Ra = 3.12 ] (1.33 ×10-4 speed) + (6.64 × feed) (4-1)
Dimensional error = 1.68 ] (3.5 ×10-3 speed) ] (12.9 × feed) 

+ (0.0306 × speed × feed) (4-2)
������������>? 2 
�����>? 2

Ra = 2.53 + (2.75 × feed) - (1.12 ×10-3 speed) (4-3)
Dimensional error = 0.599 + (0.0444 × feed) ] (1.0×10-3 speed) (4-4)

	 �?�

Ra 
�� 
�� ��R���&������  >��3��  S �
�	 �� (µm)
Dimensional error 
�� 
�� 
���	
��?������  >��3��  ����	 �� (mm)
Feed 
�� ��������%L�����  >��3��  ����	 ���3���� (mm/rev)
Speed 
�� 
�� 	�H����  >��3�� 	 ���3����> (m/min)

4.4 ��
������1!��%!�%����
	%Q���������	&�?��������3����>?S��"��
����������������>?�3�� � �������4�" ���	���

	"����� �&����5

3�
�� ��R���&������$��
�� 
���	
��?������ ����4����"R3 "j������
����>?��!3�����	���>?�4����$����4����>?S��[�����&����5
 �	%�>��	�>�����
3�[����>?S��[�����
�����$���4����
3�
�� 
���	
��?�����
3�[����������S��S 3	���10% (�!������>? 4.15
$�� 4.16)
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������>? 4.15 $"�����	%�>��	�>��
3� Ra

"j��� speed feed depth Ra Ra cal. ei
1 320 0.11 1 2.53 2.34 0.19
2 430 0.1 1 2.55 2.40 0.15
3 475 0.09 1 2.67 2.46 0.21
4 270 1 1 4.60 4.97 -0.37
5 365 0.6 1 3.91 3.77 0.14
6 420 0.9 1 4.45 4.53 -0.08

�����
3�	k�>?�	%��
	iH����
�� 
���	
��?��"� �!�5
 (Mean absolute percentage error)

i i

i

X -F ×100
X

MAPE = 
n

 
 
 

7.51+5.88+7.86+8.04+3.58+1.80= 
6

= 5.78

�����
3�	k�>?����
�� 
���	
��?�����4����"�� (Mean squared error)

2n
i

i=1

eMSE = 
n∑

( ) ( )2 2 2 22 20.19 +0.15 +0.21+-0.37 +0.14 +-0.08= 
6

         = 0.44

[�������	
����
&��3� 
3�	k�>?�	%��
	iH����
�� 
���	
��?��"� �!�5
	�3���� 5.78 iO?�����
��3�
3�
�� 
���	
��?���>?�4����S��$��
3��>?S����!3��	�5l
�>?�� ���S�� $�� >���$"�����~
	%�>��	�>��S������ (�!j�&%������>? 4.20)
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������>? 4.16 $"�����	%�>��	�>��
3�
�� 
���	
��?������

����� speed feed depth Dim.error Dim. error cal. ei
1 320 0.11 1 0.25 0.22 0.03
2 430 0.1 1 0.22 0.20 0.02
3 475 0.09 1 0.17 0.16 0.01
4 270 1 1 0.34 0.37 -0.03
5 365 0.6 1 0.26 0.26 0
6 420 0.9 1 0.26 0.22 0.04

MAPE  
12 +9.09 +5.88+8.82 +0.00+15.38= 

6

= 8.53

MSE
( )2 2 2 2 220.03 +0.02 +0.011 +-0.03 +0.0+0.04= 
6

= 0.00065

[�������	
����
&��3� 
3�	k�>?�	%��
	iH����
�� 
���	
��?��"� �!�5
	�3���� 8.53 iO?�����
��3�
3�
�� 
���	
��?���>?�4����S�� $��
3��>?S����!3��	�5l
�>?�� ���S�����[���>����S��$"��
���~	%�>��	�>��S������ (�!j�&%������>? 4.21)
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j�&%������>? 4.20 $"�����	%�>��	�>��
3�
�� ��R���&������ (�!������>? 4.15)

j�&%������>? 4.21 $"�����	%�>��	�>��
3�
�� 
���	
��?������ (�!������>? 4.16)
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